
B2

A lion is ________ than a dog.

Answer: ___________________

A cat is ________ than a mouse.

Answer: ___________________

An elephant is ________ than a rabbit.

Answer: ___________________

A crocodile is ________ than a turtle.

Answer: ___________________

A horse is ________ than a zebra.

Answer: ___________________

A whale is ________ than a dolphin.

Answer: ___________________

A giraffe is ________ than a penguin.

Answer: ___________________

A kangaroo is ________ than a mouse.

Answer: ___________________

A tiger is ________ than a lion.

Answer: ___________________

A bear is ________ than a squirrel.

Answer: ___________________



Answers

A lion is ________ than a dog.

Answer: bigger

A cat is ________ than a mouse.

Answer: smaller

An elephant is ________ than a rabbit.

Answer: larger

A crocodile is ________ than a turtle.

Answer: faster

A horse is ________ than a zebra.

Answer: faster

A whale is ________ than a dolphin.

Answer: larger

A giraffe is ________ than a penguin.

Answer: taller

A kangaroo is ________ than a mouse.

Answer: stronger

A tiger is ________ than a lion.

Answer: faster

A bear is ________ than a squirrel.

Answer: bigger


